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1. HERTNEZ 7,

1) F7— "8 7.£E=7T7UDEELT=B I C A EE
P — =B 7. U ET=5PF"8NR CAMWIE 7, (3,5)=
7o

@) ZI—EBT7,PT_SEIN=RR AN 7,053)

3 PIE_.=ZEF 7.0 T —SBIN=NRKRDANG 7,4,9
:70

@ ™M BR8N _ =87, MI=S69—8HRR
ERMNT7,00,7)=7, '

2. B FTPENSKRAREIERE,

(1) ETPENERAREE 6 THE, Mk 2,8,9.WR ET=
SP%—,B IRTEER 2,8, AL 9,(3,4)=9,

(2) SINRTERDPE 2,8,(1,5)=2;(1,6)=8,
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3. W 6 B,

1) H7— B8 6,8— 6 WELHT=,EBRAAH _thi
6,1 17 =97 =8 RMMUNE 6, (3,3) =6,

(2) BY—.=B86,P1T_HF6,PIT— =86 DREDPIT
—SPYI=pIR2 R, (4,6)=6, T =550 59228, (6,8)=6,

(3 BRBPY— =K TT—BB 6, JLHENT NI =S50
BAZ3RNS 6,(9,5) =6,

(@) BRI T— =RV =B 6, gLUER NI _SZ3
—R RN 6,(8,1)=6,

4. BEPDITIERBIL,

(1) PYU=1{R 2,9,9 REAE N T—5F =892 R, (7,6)=9;
2 NPT _SPVI=89Z2m3R0, (5,6)=2,

(2> P TEINSBATR 2,3.3 £ MT—SPI_BIRRAN,
(7,5)=3;2 N{x MT=SPF—8I32AL, (9,4)=2,
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(3) PBI—FR 4,5.5 N APT _SPHI—IRZRA, (6,4)=5;
4 NAEPT=SH—-8IZZRAL, (6,4) =4,

(4) BITER 1,91 NAEPIT=3PFI_RRA, (6,5 =1;
I PT—SDH| — R[N, (4,5)=9,

| W_2 O[O NIA N

NIN|[oldh|OW|WjJO | =

i hlOIN|IN]|OJW | O |0
«©

5. #3758, 5,4 B E,

(1) BI—.=28\ 8, LT SHEI_IRRAMUIR 8,(2,8)=
8; FI7—. BB 8, LiT=SAF_IRZRANMA 8,(3,2) =8; T

—. 288, PIT=SAI—HRRANE 8,(6,1)=8;, TT—._5

TY—. 28 8, MI=SAI=0I:ANE 8,(9,3)=8,

(2) BT =S5A_BB 5, DT -S4 —a3R AME 5,
@, 1)=5; H{T_5A3I—. 285, HT—SE=0CRAME 5,
(1,3)=5; L7~ SB¥—28 5, LI=SBI=RRAME S,
3,9)=5; F1_.=5863—.=28 5, MT—SB3_8RRAb
1#5,(7,8)=5,

Q) PIFT_EHF6 TEHF,®1,3,4, ERFIPT—BEF 1,3,
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T=815 14, B _BF 4, FIUPFT_SEH—BIZ =R 4,
B,D=4;, 60— _BE84, MI=SVN=0ZRRN 4,09,9) =
4,70=BB7 THZE,.®# 3.4 MNIT _. =88 4,FIUTF—5
ZH=HRRNMA 4,(7,3) =4, ZHPENSEARASE 6 THZ,
fR2,3,4,MPIT_.=EF 4, FLPT—SEI _BHRZKKUN 4,
(4.2)=4, 70" =B84, H17T—S5Z—HLRUN 4,(1,1)=4,
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6. EATRITRANEE.

(D AR=E;E 8 T¥=, R 3,18A,(2,3)=3,

(2) HT=BE 8 TH=,®R1,8A,B,7D=1,

(3 PT—EHE8 T, HR2,8N,48)=2,

@ EFTBE7TTEZ.R2,9, LT -SA0 " mAME
9,(2,2)=9; FT_S5HBJI=0RAME 2,(2,9)=2,

(5) A EENSHEARR 1,8A.(1,2)=1,

(6) L£17—#R3,9, FIT—S5B0—IRAMME 3,(1,7)=3; I
T—S0N=RR[RNE 9,(1,9)=9,
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(7)) TR 1,3, PIT_SZAI—RZR[E 3,(5,1)=3;1
T SH=0=ME 1,(5,9)=1,
(8) BUI=F3,8N,(6,9=3,
(9) T=HR2,8AN,06,2)=2,
(10) ZH_HR 3,8 N, (8,2)=3,
(11D ™T—8R 1,2, MT—AZ—8RRME 1,7, 1D=1,"F
T—S560—BIRRNE 2,(7,7)=2,
(12) ZH—fR 9,8 N,(9,1)=9,
(13) TT=HR3,EAN,(9,8)=3,
(14) BHI—HR 9,EN,(8,7)=9,
(15) GII”H#R1,BA,(88)=1,
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